
4.7 1)
1 + 2 i

2 + i
=

(1 + 2 i) (2− i)

(2 + i) (2− i)
=

2− i+ 4 i− 2 i2

4− 2 i+ 2 i− i2
=

2 + 3 i+ 2

4 + 1
=

4 + 3 i

5
=

4

5
+

3

5
i

2)
1 + i

2− 5 i
=

(1 + i) (2 + 5 i)

(2− 5 i) (2 + 5 i)
=

2 + 5 i+ 2 i+ 5 i2

4 + 10 i− 10 i− 25 i2
=

2 + 7 i− 5

4 + 25
=

−3 + 7 i

29
= −

3

29
+

7

29
i

3)
1 + i

2 + 2 i
=

(1 + i) (2− 2 i)

(2 + 2 i) (2− 2 i)
=

2− 2 i+ 2 i− 2 i2

4− 4 i+ 4 i− 4 i2
=

2 + 2

4 + 4
=

4

8
=

1

2

4)
−3 + i

2 + 3 i
=

(−3 + i) (2− 3 i)

(2 + 3 i) (2− 3 i)
=

−6 + 9 i+ 2 i− 3 i2

4− 6 i+ 6 i− 9 i2
=

−6 + 11 i+ 3

4 + 9
=

3 + 11 i

13
=

3

13
+

11

13
i

5)
−1 + 3 i

3− 5 i
=

(−1 + 3 i) (3 + 5 i)

(3− 5 i) (3 + 5 i)
=

−3 − 5 i+ 9 i+ 15 i2

9 + 15 i− 15 i− 25 i2
=

−3 + 4 i− 15

9 + 25
=

−18 + 4 i

34
= −

18

34
+

4

34
i = −

9

17
+

2

17
i

6)
−2 − 2 i

−1 + 3 i
=

(−2− 2 i) (−1− 3 i)

(−1 + 3 i) (−1− 3 i)
=

2 + 6 i+ 2 i+ 6 i2

1 + 3 i− 3 i− 9 i2
=

2 + 8 i− 6

1 + 9
=

−4 + 8 i

10
= −

4

10
+

8

10
i = −

2

5
+

4

5
i

Algèbre : nombres complexes — forme algébrique Corrigé 4.7


